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QUESTION 1
HOTSPOT

You are designing a web page that contains a blue button. When the button is pressed, it should call a function that
displays the message elcome When the cursor hovers over the button, the button should turn red. When the cursor

leaves the button, the button should revert back to its original color of blue.

You want to complete the markup using the appropriate HTML events.

How should you complete the markup? To answer, select the appropriate event in the answer area.
NOTE: Each correct selection is worth one point.

Hot Area:
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Answer Area

<!DOCTYPE html>
<html>
<head>

<script>

function showRed()
{

var changer = document.getElementByld("changer™);
changer.style.backgroundColor = “red”;

function showBlue()
{

var changer = document.getElementByld("changer™);

function motify()

alert(“Helcoze!™);
¢/seripty
</head»
<body>
<input id=“changer™ type="button™ [ w | ="notify();" w | =“shouwRed();"
onchange | enmouseover |
ORMOUSS0Var onmousadown
ONMOUSE0LR . onmouseout
g onclick
w ="showBlue():" value="Click Me" style="background-color:blue; color:white:;"/>
lonmouseover
eamousedown
_-unr_nuu:lqyt_
jonkeydown
</body>
</htel>

Correct Answer:
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Answer Area

<!DOCTYPE html>
<html>
<head>

{seripty

function showRed()
{

var changer = document.getElementById(“changer®);
changer.style.backgroundColor = “red”;

function showBlue()

{

vor changer = document.getElementByld("changer™);

function motify()

alert(“Helcoze!™);
¢/scripty
</head»
<body>
<input ide"changer™ types="button™ v]-'nntif}'(];' w | =«"shouRed();"
onchange ; { enmousecver |
onmousaover 1' onmousadonn
Sk s i | onmouseout
Lonclick
w ="showBlue():" value="Click Me" style="background-color:blue; color:white:"/>
gnmoujeover
onmousedown
Enmouseout
onkeydown
</body>
</heel>

References: https://www.w3schools.com/jsref/dom_obj_event.asp

QUESTION 2
You are creating a dynamic HTML page by using JavaScript.
Your page has an image of the sun. When the user\\'s mouse pointer moves across the image of the sun, the image

should change to the image of the moon. When the user\\'s mouse pointer is no longer over the image should change
back to
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the image of the sun.

You need to write the code for the image swap.

Which two events must you program for? (Choose two.)
A. onmouseup

B. onmouseout

C. onmosedown

D. onmouseover

E. onmouseenter

Correct Answer: BD

References: References: https://www.w3schools.com/jsref/dom_obj_event.asp

QUESTION 3

HOTSPOT

You are creating a function named countdown. The function accepts a single parameter, start, and displays a

countdown from that number down to zero in increments of one.

How should you complete the code? To answer, select the appropriate code segments in the answer area.

Hot Area:
Answer Area
function countdown(start) {
for ( [ v |
var i = start; i<=0;
vari == start; i<0;
vari <= start: i>0;
var i < start; i>=0;
console.log(i);
}
)
Correct Answer:
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Answer Area

function countdown(start) {

.

for ([ v
var i = start; i<=0;
var i == start; i<0;
vari <= start; i>0;
var i < start: i>=0;

console.log(i):

References: https://www.w3schools.com/js/js_operators.asp

QUESTION 4

HOTSPOT

You are creating a function that does safe division.

The function has the following requirements:

The function receives two parameters for the numerator and denominator.
If the denominator is zero, the function must return false.

If the denominator is not zero, the function must return true.

You write the following code. Line numbers are included for reference only.

81 function isSafelivide(numerator, denominator) {

a2 if {denominator = B8) {
83 return false;

24 } else {

85 return true;

86 ¥

87 }

For each of the following statements, select Yes if the statement is true. Otherwise, select No. NOTE: Each correct

selection is worth one point.

Hot Area:
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Answer Area
Yes No
The function will always return false.
The operator at line 02 should be !=
Correct Answer:
Answer Area
Yes No

The function will always return false, K=

The operator at line 02 should be != | @

References: https://www.w3schools.com/js/js_comparisons.asp https://www.w3schools.com/jsref/jsref_if.asp

QUESTION 5

This question requires that you evaluate the underlined text to determine if it is correct. You review the following
JavaScript code:

var X = 15;
x ¥= 5;

When this code executes, the value of x is 0.

Review the underlined text. If it makes the statement correct, select "No change is needed". If the statement is incorrect,
select the answer choice that makes the statement correct.

A. No change is needed

B. the value of x is 3

C. the value of xis 5

D. the value of x is undefined
Correct Answer: A

References: https://www.w3schools.com/js/js_arithmetic.asp
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